R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-585 Masonite SteeNC - Drawings\REV 2018 {BO\TX-4171-72.dwg, TX-4171

oy do
i 0N
. ®7ini & q‘l’ os
POWERED BY FomiS il 83 2
;:\?‘ = <Y MES 10 ul 9
/| & IEl, sxY &|F 8 U8
g PR WYL N[Gu g8 &7
74" MAX. FRAME WIDTH i Lie 2 2 £ N B
® Oi 1 v g é‘: Q v g Gj 2
‘”‘. Z lem Sie SS ° ; k4
DOOR COMPONENTS MADE IN THE USA YE, 87 AS gk feg 8t
b'(@ ..."a E p'.. ?.0 - a g f’; Qé
et S IR Zgo &0
“\.‘\.\1\1‘5‘ > O™ = ﬁf8
- ©x2 t e
/ g £, Sy
/ / g 256 2
/ / £ Rdt gk
Glazed Steel Door % 7% ;= i
/ / c
/ £ ki
/ L R g
[»]
"NON-IMPACT"
) wn
INSWING / OUTSWING w £ 35
20 <3 H B =
o2 Z o5 b
- = [y
;o5 X X :
<2 <= Z L
o= =5 e < Sz
5% &0 R
=8 -3 2 |Zas
8t 22 B S
- / / 5 |3 €3
/ y 3 — t's—:l
EVALUATED FOR USE IN THE STATE OF TEXAS / // // 2 Z a
The Glazed Steel Door system described herein complies with the 2018 , [ o o-
International Residential Code (IRC), Sections R301 & Ré09 and the 2018 / / W R Tl T P
International Building Code (IBC}, Sections 1404.13, 1609, 1709.5, 2403 and 2404 | I o el e
subject to the following conditions: Fy W
o D

1. Anchors shall be as listed and spaced as shown in the details. Anchor 3 8 ‘EI(
embedment fo base material shall be beyond wall dressing or stucco. 5 glol (O],

2. When used in areas requiring wind-bome debris protection this product is D) = QZ_ 3
required fo be protected with an impact resistant covering that complies =° QL nl_lo 2
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC. 2 Dz g 3|E %

3. Allowable design pressure requirements must be equal to or less than the S S E z ,5:’( gw E
design pressure rating shown in the design pressure chart, sheet 1 of this “g- olxi 2| |z
drawing. MR

4. Conditions not covered by this drawing are subject to further engineering L § P P

 analysis. ' : : N S|5|ole
Q oigiola
<< D < <T
TABLE OF CONTENTS g © g N g
SHEET# | DESCRIPTION E Q é Shala “,<_t-’
1 Typical elevations, design pressures & general notes - — s — § &é » & o
2 Astragal details {Ultimate Flip Lever) XX INSWING +50-0 -55.0 +50.0 -50.0 +40.0 -45.0 0| ||l o
3 Astragal detals (Ulfimate Mulfipoint] PINE =
4 Astragal details (Ultimate Humicane) XX OUTSWING +45.0 -45.0 +50.0 -50.0 +40.0 -40.0 oaTE: 7/12/12
5 Door panel details {fip fite insert glozing) scate:  N.T.S.
6 Hon'z'omol Cross se.cﬁons XX INSWING +50.0 -50.0 +50.0 -50.0 +40.0 -45.0 DWG. BY: JK
7 Verfical cross sections nFusionFrame” CHK. BY: LFS
8 Fr hori K
D XX OUTSWING | +450 | -45.0 | +50.0 | -50.0 | +40.0 | -40.0 et 171
SHEET 1 oF _8

© 2012 R.W. BUILDING CONSULTANTS INC.



‘ON] BANVLINSNGOD aNIaung "M’y 2102 )}

B § aolinmioa o nug (331 dnd M) — STvg Ton

STVLIQ TVOVILSY £ e N Ll lo| = |

LELE°6S9'CLE ON ®uoud : Uav_030av|eL/e0/z1] | 119 0| N

C600e ot oo aen N o \Su@, ‘KIBWISSY_ 80 1dvd [ S47]| 39nldv0 Nid TvOvHISY MIN aav §i/s/s | 2 || E R

"ONI 'SINVLINSNOD ONIGTING ] SAIOHSIYHL a3adv|at/ito/ii] ¢ | =% 2 | zw

S47 ONILSIL MIN ¥04 3uvadnigi/iti/6] + I™ Elsle B
_SeLvoLf “Td swxal VdNAaNd 3000 _0d1/081 810z 0L 31vadn Gldle|glE m
F'd PIWYSS ‘4 UOPUA]  :A@ peipdeid sjuswinoog 1L0Na0Nd [S47] % NOIdO ,ewnijucisny, aaviel/ez/01] ¢ 1|8 |2 |5 |8 &
&892 or

5 . WOLLOg )
Z2F cipr o9 oLo R

225" ‘»1 ——
1]

260"
35.5" LATCH

41.0" DEADBOLT

- 8L

1.75" —= |

33.75"

520"
1.82"
0.063" —»| |=—
Z
\jﬁ————' T
Astragal Section

60.0"

S9°C

77.75"
ANCHOR SCREW LOCATIONS
i

i
™~
w in
§ 7. ™~ 7
4 . | =
| g m
§ g 2 3
b | 5 3 5
2 2 <
2 € Q 3
—_— - = 0O =
LOh O o o ©
o O = )
2 A E >
o 2 & o
< O 2 2
= O o )
o = Py 3
[=%] ' ~
e X — Q\
g & X
S n =
S = g
2z
%] >
= Q.
2 g ;E
&3 o =
Laynd (%2 ]
-0 L \
=< Q Z
o= x
* <
Sk < =
/ = \ 7 <
3 Q
>
& Oc
O
a1 (%)
I, G £ <
/1 — S g
y . N\T. W ¥ £ w
- \ T o
® O
o O
e 2 4
2 = = =
£ 2 i
£ 2 M —
< E S <
_ 2 & =
() = et
? E =
o = —d
2 ‘ < )
S
[=4]

N

21 'BMPZL-LLLY-X1\D81 8LOZ AFW\sBUImMeIq - D\|221S 3HUOSeIN §85-HA - IQL\SUI JO 1da( sexa - G\LNINVINYI4 BINpuI\SIuBID\Y




‘ON| BANVLINSNGD aNIgling "m'y 2102 @

2981L—d # NOLVMLSIONY 40 ILVOIINIO _ SNOISIAZY
SYIIANIONI “IVNOISSZJONd 40 auvog Svxal Qz%@&m:ﬁ%&ﬁ@ﬁi Ad . 31va4 [ON|y 8_
LELE'BSH'ELE FON Suoud . S TUS ONUYINOLLYY d3aav|sL/co/zi] | N blx|2] T N
G6SEC 14 OOUIDA 0CZ X08 ‘O'd \Sv@ AIBN3SSY 80 L¥vd [ S47] 34NIdvO NId TVOVMISY MIN 4av| i1/5/5 | 2 || "1 7|, 5|6
"ONI *SINVLINSNOD ONIaTINg SER] SQIOHS3YHL 43aav|9L/10/LL] £ | < g |l 3_
S31 ONLSIL MIN ¥0J 3ivadn|git/it1/6 | v |™| . | & | sle &
_STLYOL$ "T'd SvXaL VANan3 3000 0d1/081 810z 0L 31vadn =R RIS &
3'd PILYSS "4 uopuA]  :Ag peupdeud sjuewindog :1ONao¥d | 47 ®_NOldO 2wpijuolsny, gav|el/gz/0L] S | 8|38 |5|58 5
&/pz 0/
).)u( Wm;
.0....0.&4& U....m\%%~ ’]
= s%v ~BAENTG;5. 20
FHe R P TToT ]
27 smvoL ’ WOLLOg .
% LAINHOS 4 NOONAT & + ~
% fx g
% Sy |
s, ML 52| [ _
o, XNl
-~.ﬂt¥. .%.M....@..%(&Muﬂ; » m
T 2028 o 2 i
SEWSS 8l N 5] '
g 2 -
: S »
51
: R g g _ . _
m - < m 8L _
P -
g g = 5
It L3 B =
5 « |3
_ v (%2}
m 5 T Y 5
o - (9
un =
° - vy [ z O
8 Z < ) & =
g8 | 8 T 3 <
M o
O
Q
_ R E :
M~ o
N .
2 89T -
[2°4
@ o
ot
O
=z
<
]
s
I =
M~
| s |
4 LQ
: 5 »
g v
. g | g 2 Z
il & z &
N & 2
RS (5] 93]
dOl 5 ¢ A Z
=~ m Q S
W A = s
T 8 T Y
£ 0 o 5
s = < =
< &+ - ]
e 1
g o x %
N 3+ )
~ — —
g x = ,
© Q
M 1% =5 2 /
o =z N
;O iy ~
NA o
oo 2 '/
MW m m Illlllmllwlﬂ ya X 3 aed
[x ¥} Ry
=z 2 = il NN
= s m % o] G
: \ N4
i o Q <
s QO o’
< Q c e
o = 3 £ )
N 8
& & - = <
e T ® 5 s =
DR 0 S A— - n < =
. A Y e lll‘/ 1
& . W\ £ 5 ¢ 9
y—7 X 7 T 2 3 P
£ - > -
2 c 2 =
= 8 ! R
& o o M
=2 — . > 5
< £ S ) z L
© & 8 2 S —
& . 5o £ <
o S <o 2 =
2 E 5 E =
o - ks =2 =
@ @ S <
5 o =
S m N
jues
i N ’

€1 'BMPZL-LLLY-X1\D8! 8102 AT¥\sBuIMeId - D\IP3IS B3IUOSBI §85-Y( - IAL\sul 0 3daq sexa) - g\LNANYINYId BINPUI\SIIBINY



AN EANVATINSNGOD ONIaTng “M'd 2102 (@)

TSALL~3 # NOUVHISIOZN 30 ALVOLILLNID SNOISIATY
SUIINIONI TWYNOISS3404d 40 Quvos SvXal D%@Wm&:ﬁ«%&@m@:v A8 31v3 JON| 8_
L616°6G9°CL8 FON SUOYd . s TUS _ONUYINOILNY 03aavisL/c0/zL] L T 21ES 2 =
S6SEE 14 OSWIPA O£Z %08 ‘O'd \SU@. ATBWISSY ¥0 Luvd | S97[3unidvD NId IWOVHISY MIN dav] ci/s/s | 2 || 1. 5| ®
*ONI 'SINVLIINSNOD ONIgHNG S47 SQTIOHS3NHL 030av|9L/Sz/0L] € | <z g | 4_
S47 ONUSIL MIN ¥04 Jivadn|gil/il/6| v+ |™ SlElg B
Lotrolf Id swan . vHNan3 3000 0di/281 8102 0L 31vadn MEIRMEERE:
4 uopuhl  :Ag pe.pdaig sjuewinoog :lONC0Y¥d | s37 ® NOILJO ,@wbijuoisng qav|el/8z/0i] § | & HHEIE &
[5%]
4
"4
> Y
(2
o) £
G ineres Y- 8w T
A Y2 << Ok
OF o o & i S =
0, Spe.n NE Sz g
N E T et 7
T -
[
WwoLLog 2
4
Ll
_ 3 1 hr ol D
o3
x
o
g
() %)
= =
€I @I
i (¥
o O.
e < <
0 ® ®
2 3%
2 2 zQ
O 0
2 S LEO—— = m & >
Q S T << 2
z L2 : 3
& m 3 2
S in RS N o Q <
o v z i == O M
Q 2 Z|% < x L
2 % =2 ~ gd =
S - o= (™ O|wm o
Z x|Z =211 &
= [EN] and <
0|2 i g =
. @ : 2
50— | > < p
2 Q 2
] O =
zZ «© <
< e
J A— = nlu_
o o
| paed L
o 8
@ 7
pd
o
O
- TN x
. dOl Ee i &
o o 2
WO O
wr o — m » MK <
[+%2 >
+ 23 N\ : 7
25 s 2 2
=3 ) S
w a S
w
m Z 59T
5 z
= <
g Q)
o)
b <C
= =
4
,nvuc %)
S =
T s
v =
& E Z
o o > = <
~ > [+74
Q) WG
x Q 2> o7
w Q 53
# O QL O
= o =2
LL}
o LLi
o= —
3
=
o e
s » T~ -

pL BMpZL-LLLp-X1\D8I 8L0Z AZY\SBUIMEIQ - D\[333S BNUOSEIN §8S-HQ - IAL\SUI 40 3daq sexa] - B\LNINVINYId BInpuz\sIuald\y



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-585 Masonite SteeNC - Drawings\REV 2018 IBA\TX-4171-72.dwg, 1-5

(LAMINATED WOOD)

1.18" ‘—L—’]

STILE

75"

1

PARTICLE BOARD
LOCK BLOCK
(12" HIGH)

35.75" MAX.

PANEL WIDTH

21" MAX

D.L.O. WIDTH

79.25" MAX. DOOR
PANEL HEIGHT

63" MAX
D.L.O. HEIGHT

SEE
| HARDWARE
TABLE

>

S —

v o

E—

)

STILE
(LAMINATED WOOD)

INTERIOR

i
/i

EXTERIOR 1.18"

71"\ HORIZONTAL CROSS SECTION

MASONITE
Insert glazed
(Steel)

#6 X 1-1/2" PH SMS

INTERIOR

L

AR SPACE

-
~~_1/8" TEMPERED GLASS

¥/

NC 11111711111 T

STEEL SPACER
EXTERIOR Q'SO SEALANT

LOW TACK SEALANT

GLAZING DETAIL
Lip Lite Insert Glazing

Gl

LATCH: KWIKSET SIGNATURE SERIES (991)
KWIKSET

DEADBOLT: KWIKSET SIGNATURE SERIES {980/985)

GLASS BITE 1/2"
—1/2" NOMINAL GLASS THK.
1/8" TEMPERED GLASS

TOP RAIL ~

(WooD) NF=——3
___/————
_/

0.81"

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

24 Ga. STEEL SKIN x\ :

Yi LT WAL=

T AT LYY

Vi
I/4
INTERIOR EXTERIOR
1
FOAM CORE
(POLYURETHANE | ™
BOTTOM RAIL R
(WOOD COMP.) ™~ ™ m

1.75"

@ VERTICAL CROSS SECTION
2

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

DOOR_PANEL DETAILS
(LIP LITE INSERT GLAZING)

LFS | PRODUCT:

LFS
LFS
LFS

UPDATE TO 2018 IBC/IRC CODE

5/5/15 |ADD_NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

9/11/18 |UPDATE FOR NEW TESTING
12/03/13|ADDED ARTICULATING SILL

10/28/19|ADD "FusionFrame” OPTION &
11/01/16|ADDED THRESHOLDS

1

5

<M

NOJ DATE

REVISIONS

oatE: 7/12/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4171

SHEET 5 oF 8

@ 2012 R.W. BUILDING CONSULTANTS INC.’



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-585 Masonite Steel\C - Drawings\REV 2018 IBO\TX-4171-72.dwg, 1-6

230 2X FRAMING 2X FRAMING SOy oo
3 (G >=0.42) ¥ inl gty o3 0
)/ DRYWALL Fleis il |83 £ o
— 1 ‘g é-‘,«' § % H “o,.. 2 "? ;E‘{; a k]
4 " .-w'\::" Ol %% |8y oB 5-
\ 180y u.: gg? gﬁ %);’.; - Q h:n: z ~ Eh'-
EXT. SHEATHING , EXT. SHEATHING  b({l¢ Of INjwiy g B8 U
/ 2wt izio ¢fS Eg Eoa %
/ ) mk %o, 0T e W Zog 85
Vi : f s i 8 57 5§ pE
/ , N o i
‘ | #10x2-1/2'PFH e Npdee & S8 ER
i LT~ WOOD SCREW 114 3T 287 b
. B Y’ g 3 3 § 2 o
1/4 MAX. 1 e 328 &
X SHIMSPACE\ e 11 I~ #10X 3" PEH t § gé
71 C) s e max—"] WOOD SCREW ; B
&/ S co= SHIMSPACE | £ S
e [+]
! = 00p0o0) :
/ DOOR PANEL ? DOOR PANEL ~
/// HEAD: PINE HEAD: "FusionFrame" (1-PIECE)
! %
/ ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP 2
(QEBD/PE 650} (QEBD/PE 650} < =5
> \ s |5 8%
EXTERIOR EXTERIOR INTERIOR Z 2 T
TNE "2\ VERTICAL CROSS SECTION 8 \ VERTICAL CROSS SECTION . 4 3
CORNER PADS v 7 \6_/ Outswing shown - inswing also approved w Outswing shown - inswing also approved 5 2
(TYP.) S iz
o o.
ol leleelels
- 3
1/4" MAX. a2
SHIM SPACE SHIMSPACE  Exr. SHEATHING <8 | 1B
EXT. SHEATHING JAMB: "Fusionframe" ~lo %
(1 OR 2-PIECE) S
JAMB: PINE SRR
ii] (] 1Y > > = = — — — “ “ 5 23 m
075 —=—1 075 R 078 . #10X 2-1/2" PFH Fee e as ClEElelLlel 2
J— — #10 X 2-1/2" PFH o|2|2|812I2| &
|~ WOOD SCREW ULTIMATE HURRICANE ASTRAGAL WOOD SCREW EIS|EI3|R|5| [@
z ULTIMATE FLIP LEVER ASTRAGAL SNEBIE R B
COMPOSITE X FRAMING ULTIMATE MULTIPOINT ASTRAGAL SIRISIE|RR] |
SN[ [] shar-on (G >=0.42) ENDURA WEATHERSTRIP ZXFRAMING )0, 55 =
CAP ' (QEBD/PE 650) ENDURA WEATHERSTRIP (G>=042) L=5ligla =10
: \ - DOOR PANEL (QEBD/PE 650} § o § § § §
2 S ERERE
~ @ N <>£>E
N [Zowiols
, = 111N N X A S| PRI
E_[ /7 / / DATE: 7/12/12
DRYWALL ) 48 X 3" PEH . , DRYWALL scale:  N.T.S.
»l 195" ]____» 195" |ae #8 X 2-1/2" PFH #8 X 1" PFH SMS 8 LATCH #8 X 1" PFH SMS #8 X 2-1/2" PFH P— 0K
' - WOOD SCREW WOOD SCREW ,  + 1+ ppyy STRIKE PLATE £ HINCE WOOD SCREW T
" CHK. BY:
JAMB / HEAD JAMB / HEAD #8 X 3/4" PFH SMS WOOD SCREW #8 X 3/4" PFH SMS DRAWING N0
PINE "Fusionframe”  "FusionFrame” /"1 \ HORIZONTAL CROSS SECTION TX=4171
(1-PIECE) w Inswing shown - Outswing also approved oeer 6 of 8.

© 2012 R.W. BUILDING CONSULTANTS INC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-585 Masonite Steel\C - Drawings\REV 2018 IBO\TX-4171-72.dwg, 1-7

A\
INTERIOR EXTERIOR
DOOR PANEL
/
ENDURA
DOOR SWEEP
/j? / (DBK-R)
1X2)3

\\
INTERIOR EXTERIOR
DOOR PANEL
ENDURA \
DOOR SWEEP
(DBK-ZAC) X _

4)5

ENDURA
WEATHERSTRIP
(QEBD/PE 650)

10203)

INTERIOR

//

\l\ EXTERIOR

DOOR PANEL
ENDURA ™
WEATHERSTRIP,_  INTERIOR
(QEBD/PE 650}

tyndon F. Schmidt, P.E
TEXAS P.E. #104123

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION

w Inswing Adjustable Threshold

INSWING ADJUSTABLE THRESHOLD
LAIL4565

| — 456" !

INSWING ARTICULATING THRESHOLD

6 LIACL4565
MAX. DESIGN PRESSURE = +40/-45 PSF

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 2>\ VERTICAL CROSS SECTION

\U Inswing An‘lculchng Threshold
w/ Pin Capture

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR {TW CONCRETE SCREW

7“3\ VERTICAL CROSS SECTION

w Outswing Bump Threshold

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 4\ VERTICAL CROSS SECTION
W Outswing Bump Threshoid

2 INSWING ADJUSTABLE THRESHOLD
ZAI4565FN

MAX. DESIGN PRESSURE = +40/-45 PSF

| — 456"

7 ZAC4565FN

4.56' | |

T =
8 > &
1 AR
454" ,! 454" ! ! 456"
INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD
ZAILAA4565 ZAIAA4565FN ZAl4565RDS

MAX. DESIGN PRESSURE = +40/-45 PSF

MAX. DESIGN PRESSURE = +40/-45 PSF

‘ T

456" 1 ! 456"

INSWING ARTICULATING THRESHOLD

P.O. Box 230 Valrico FL. 33585
Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
VERTICAL CROSS SECTIONS

LFS

LFS | PRODUCT:
LFS
Y

LFS

UPDATE TO 2018 IBC/IRC CODE

INSWING ARTICULATING THRESHOLD 8

INSWING ARTICULATING THRESHOLD 9

ZIACLAA4565

ZACAA4565FN

10 INSWING ARTICULATING THRESHOLD
ZIAC4565RDS

MAX. DESIGN PRESSURE = +40/-45 PSF

MAX. DESIGN PRESSURE = +40/-45 PSF

MAX. DESIGN PRESSURE = +40/-45 PSF

MAX. DESIGN PRESSURE = +40/-45 PSF

| =20
I
i 0
456" ! ! 4.56" !
1 OUTSWING THRESHOLD 12 OUTSWING THRESHOLD
LIOBL4565 ZOB4565FN

e 1.49" —]

@L/j;ﬂ % ._m
4 56" 456"
13 OUTSWING THRESHOLD 14 OUTSWING THRESHOLD
ZOB4565RDS FOB4566

10/28/19|ADD "FusionFrame" OPTION &

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

9/11/18 |UPDATE FOR NEW TESTING
12/03/13|ADDED ARTICULATING SILL

11/01/16|ADDED THRESHOLDS

NO. DATE

1

A L] 1a]

5

REVISIONS

oATE: 7/12/12

ScAlE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—=4171

SHEET 7 oF 8

© zo12 R.W. BUILDING CONSLULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-585 Masonite SteeNC - Drawings\REV 2018 IBC\TX-4171-72.dwg, 1-8

_J HEAD ANCHORS: N :_3 "
s m 2X FRAMING #10 X 2-1/2" WOOD SCREW (PINE JAMB) . oM, o
S5% (BY OTHERS) #10 X 3' WOOD SCREW (1-PIECE JAMB) HJOX25TRERWS ,é:v":“« xib “0392112 wEs , B
[EE < T O ‘o’.‘ = .".. (' a B @ W ?_)
< e {TYP.) e @ GnY - z" oz
s g (TYP.) & ) B con = g": @ in T b S b
. | Lo 35t wis Zizg 9 |s 5 3
{TYP.) -t o oio ] 8o ZZ
T T 1 T 1 ot 15T e Sk Efp 99
18 - ASTRAGAL STRIKE L., iRl N > 389 B
. SEE HINGE G, iZ L 2 o=
T EEQ‘/ DETALL T | DETAIL1  PLATE @ HEAD JAMB A 35 19 s &8 g2
= ? Eg — Vi : o xS t &
o SEE DETAIL 1 o E 8, Of
5 18 4l JAMBANCHORS: § 592 g
#10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) o ase 98
= #10 X 3" WOOD SCREW (1-PIECE JAMB) \Q\ 2 § 0 g
[+o] N [
2 1 i ) I /#8X2—1/2" PrHWS |5 &R 8
-l H- ~ ]
N T % e a
" é" =l <
SEE HINGE #BXV'PFHWS <=0 ' 1) ®fl ™I~ 48X 3/4" PFH WS
DETAIL 2 i N "~ 4" X 4" HINGE o
SEEDETAIL20OR 3 \1 5
=< o o
: Y <E g 2
i * == HINGE DETAIL 1 S IS
\ nQ S g =
T . ~0 ] =
[ LAl I Y 2w
/#8X2—1/ " PFH WS 9@ 5‘5
s SILL ANCHORS: | T | S g
" #10 X 2-1/2" PFH WOOD SCREW 470 o~ 8 e
4‘ P- " \ i1
(TYP.) £ (TYP) /4" X 2-3/4" ELCO OR #BXT"PFHWS <=fo 1| 1=~ 48X 3/4" PFH WS & &
HINGE JAMB FLOOR SUBSTRATE MATERIAL ¢ ITW CONCRETE SCREW " 4" X 4" HINGE o] Jololn]ol-
CONCRETE (MIN. 3000 PSI) \ | B b e
WOOD (G >= 0.42) FRAME ANCHORING ' wl |
XX
HINGE DETAIL 2 s8 | B
* P E‘:’ ol 1S
NOTE: THIS ANCHOR REQUIRED FOR D.P. > 40 PSF. SIE|2 ~|2
51810l [£E2 |»
= ©
JAMB NOTES: ARNE RS
THE PINE OR "FusionFrame” 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. € QIZIQIEIS %
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. uE olx g *@ 5 o
O -
CONCRETE ANCHOR NOTES: § wl'lE|=Z
1. Concrete anchor locations at the comers may be adjusted to mainiain the min. [ < i L o
-edge distance to mortar joints. : : : T 3/16" X 2-3/4" TW CONCRETE SCREW : o|% 3|8|ol8
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to OR ASTRAGAL PIN CAPTURE 2 % % 2/
maintain the min. edge distance fo moriar joints, addifional concrete anchors " ey o ™
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. #8 X 3" PFH WOOD SCREW COMPONENT (UNDER CAP) N §< v N W
3. Concrete anchor table: ASTRAGAL STRIKE N Q Sl
T AN - CIEARANCE L MIN CLEARANC PLATE @ SILL \ 1/2" DIA. HOLE (IN CAP) § ;} D § a
: (Woans s} MO O
' — —— N \Ne—_ [ < ®© Go o =
rAgcv:vou® 316" 1-3/4" 3 1-1/2 = =8 = = = oATE: 7/12/12
’Tw 1 i SCALE: N-T-S-
TAPCON® 1/4 1-3/4 11172 4 DWG. BY: JK
umacon? 4| e r ¢ 1/2'DIA-HOIE. pralL 2 DETAIL2. DETAIL3 AT L
WOOD SCREW INSTALLATION NOTES: Outswing Inswing Inswing TX—4171
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws 1o prevent the splitting of wood. SHEET _8 oF _8

© zo012 R.W. BUILDING CONSULTANTS INC.




